L2 COMPUTE time per input event Entries 6868618
Mean 4.398
o F
£
g RMS 4.731
o6
20 . Underflow 0
E Overflow 634
105 L T R I e L L R
10*
10°F
10%
10F
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

0 20 40 60 80 100 120 140

X: COMPUTE time (CPU KTics)

160 180

rate of COMPUTE
N
=)
S
= Underflow 0

total events. 0=anylnput pti pt 1 p

Enties  1.401779¢+07

1 H
0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

Mean 119

1547
of underton o

 overtow o

0 2 4 6 8 10 12 14 16 18
Input: 0=comp, 1=decis, user ..., 10=accept,...user

rate of DECISION s seaa0

Underfow

Overlow  1.524e+04

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

L2 DECISION time per input event Enties 56140
Mean 4.336
e[ T T T T £
g B B B B B RMS 2471 Py
] : : : : : i
'2504 :_ """" b ‘l """ b % | Underfiow o S
E : + | overflow 239
LT R T R R
10
102 ..........................................
10f---- RRLLEEREERLLTERRERLIERRR
-I 111 I 1111 I 1111 I 1111 I 1111 I 1111 I 1111 I
0 5 10 15 20 25 30 35
x: DECISION time (CPU KTics)
L2 COMP+DECI time per input event Entries 56140
Mean 17.44
g RMS 11.93 Py
® ©
> Underflow 0 5,
Overflow 54
10

cilverdrracbiy

100 120 140 160 180

Sun May 28 D8551E 617

ETOW-compute: #towers w/ energy /event Entries 6868618
Mean 357

...-E\-- RMS 2.983

Underflow 0

Overflow

x: # ETOW towers

rate of ACCEPT s so140

Underfiow

Overlow  1.524e+04

10

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
0 200 400 600 800 1000 1200 1400 1600 1800 2000
X: time in this run (seconds)

ETOW: Seed Tower Number
Entries 80818

“IMean 3596

10
205.9

10

R 41 348 2R
0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000




ETOW:

Cluster Seed Et GeV | Entries 80818

10*

10

10?

10

N
<
®
Q
>

7.162
2.098

| IIIIIIﬂ] IIIIIIII| IIIIIIII| IIIIIIII|

0 30

ETOW-decision: accepted clust ... Entries 137311

10°

10

Mean

8.967
2.789

0 30

x: ET(GeV)

ETOW:

10*Seed Et/Cluster Et GeV | Entries 80818

10*

10°

10

Mean
RMS

8.17
1.577

............................................................................................................

............................................................................................................

........................................................................................................




ETOW: Seed Tower Number

Entries

[°°r

2| Mean

| RMS

80818

179.5

104.4

200 250

Entries

1| Mean

| RMS

80818

536.8

99.9




ETOW-compute: #seed towers ET>4.20 GeV / event

Mean

ol e S SIS S ST S S o
> . . . . . . . .

o
S‘G
10

1 'r'|'|1'r1'r{'r|'|'r'|'r1'r1'|'1'|'|'|'l1'r1'rI'r1'|'|'|'r1'r1'|'1'|'r'|'|'|'r1'r

0 10 20 30 40

Entries 6868618

0.5122

ETOW-decision: acc cluster ET>5.50 GeV

.........................................................................

50 60 70
X: # ETOW towers

80 90 100

40
=}

o

o

> 6
10

10

0 5

Mean

RMS

Entries 6924758

0.5198

0.1408

.....................................................................

'l1'r1'|'{'|'|'|'r'|'r1'r1'|'1'|'|'|'|1'r1'r|'|'1'|'|'|'r1'r1'|'|'|'|'|'|'|'r1'r

10 15 20 25 30 35 40 45
x:cluster ET(GeV)

ETOW-decision: any cluster

Entries

10

10

7| Mean

....................................................

‘1RMS

56493

8.829

2.727

50

10

15 20 25

x: ET(GeV)

30

ETOW: Seed Tower Rank Entries 80818
Mean 1.512
105 E— -------------------------------------------------------------
8 RMS 0.1147
10* e
10° T
102 E— ----------------------------------------------------------------
10
1 'I"i"I'i'I"i"I"I"I'i'I"I"I'i'i'l"l"i"l'i'l"l 'I"I'i'l'l"l"l'
0 2 4 6 8 10 12 14 16 18 20




[  ETOW:

Seed Tower Quadrant

10*

10

10?

10

Entries

55993
1.586
1.087

[ ETOW:

Cluster Et Sum GeV

= = =
= o o o
o o o S

o
I| IIIIIIII| IIIIIIII| IIIIIIII| IIIIIIII| I

=

Entries

ETOW: # non-zero towers per cluster

10?

10

Sun May 28 05:23:16 2017

Mean

55993
8.84
2.73

Entries

= i
=1 'I"'I'"I'".r"l'"l"'l"'l"'
0 0.5

Mean

80818
3.1
0.8896




